

## Craniotomy Surgical Instruments Set

## **DESCRIPTION**

**Mast Pak Surgical Corp.** offers quality surgical Instrument Sets. These standard sets include the instruments most commonly used for the designated procedure. Additional instruments may be needed for your particular use. Please contact with Mast Pak Surgical Corp. representative for details on purchasing additional instruments.

## **Instruments Set Contents:**

Name	Description	Quantity	Size (Length)	Price US (\$)
Jansen Retractor	Blunt 3x3 Blades	2	4"	12.75*2=25.5











Name	Description	Quantity	Size (Length)	Price US (\$)
Weitlaner	Blunt 3x4 Teeth	2	6 ½"	14.75*2=29.5
Retractor				



Name	Description	Quantity	Size (Length)	Price US (\$)
Scalpel Handle	#3	1	Standard	6











Name	Description	Quantity	Size (Length)	Price US (\$)
Scalpel Handle	#4	1	Standard	6



Name	Description	Quantity	Size (Length)	Price US (\$)
Scalpel Handle	#7	1	Standard	6.25











Name	Description	Quantity	Size (Length)	Price US (\$)
Solid Bar Handle	Pack of 2	4	Standard	6.45*4=25.8
For Gigli Saw				



Name	Description	Quantity	Size (Length)	Price US (\$)
Adson (Ewald)	Serrated	2	4 3/4"	4.5*2=9
Dressing Forceps				











Name	Description	Quantity	Size (Length)	Price US (\$)
Adson Tissue	1x2 Teeth	2	4 3/4"	4.5*2=9
Forceps				



Name	Description	Quantity	Size (Length)	Price US (\$)
Backhaus Towel	S/S	12	5 1/4"	5.5*12=66
Clamp				











Name	Description	Quantity	Size (Length)	Price US (\$)
Cushing Brain Forceps	Delicate Serrated	2	7"	10.65*2=21.3



Name	Description	Quantity	Size (Length)	Price US (\$)
Cushing Brain	Delicate 1x2 Teeth	2	7"	7.85*2=15.7
Forceps				











Name	Description	Quantity	Size (Length)	Price US (\$)
Ruskin Rongeur	Straight	6	7 1/4"	40.75*2=244.5











Name	Description	Quantity	Size (Length)	Price US (\$)
Foerster Sponge	Serrated	6	9 ½"	8.5*6=51
Forceps				



Name	Description	Quantity	Size (Length)	Price US (\$)
Halsted Mosquito	Straight	18	5"	4*18=72
Forceps				











Name	Description	Quantity	Size (Length)	Price US (\$)
Halsted Mosquito	Curved	18	5"	4*18=72
Forceps				



Name	Description	Quantity	Size (Length)	Price US (\$)
Luer Bone	Curved 8mm x	1	7"	24.56
Rongeur	10mm Bite			











Name	Description	Quantity	Size (Length)	Price US (\$)
Stille-Liston Bone	Curved Double	1	10 ½"	50.75
Forceps	Action			











Name	Description	Quantity	Size (Length)	Price US (\$)
Mayo-Hegar	Serrated	2	7"	10.5*2=21
Needle holder				



Name	Description	Quantity	Size (Length)	Price US (\$)
Gigli Saw Wire	S/S	1	12"	7.5











Name	Description	Quantity	Size (Length)	Price US (\$)
Gigli Saw Wire	S/S	1	20"	8.5



Name	Description	Quantity	Size (Length)	Price US (\$)
Operating Scissors	Straight	1	6"	8.5
	Sharp/Blunt			











Name	Description	Quantity	Size (Length)	Price US (\$)
Mayo-Stille Dissecting Scissors	Straight	1	6 3/4"	9.5



Name	Description	Quantity	Size (Length)	Price US (\$)
Mayo-Stille Dissecting Scissors	Curved	1	6 3/4"	9.5











Name	Description	Quantity	Size (Length)	Price US (\$)
Metzenbaum Dissecting Scissors	Curved	1	7"	9.5



Name	Description	Quantity	Size (Length)	Price US (\$)
Taylor Dural	w/ Probe Tip	1	5 ½"	6.75
Scissors				











Name	Description	Quantity	Size (Length)	Price US (\$)
Cover for	S/S	1	Standard	45.65
Instrument Tray				











The total cost of *Craniotomy Surgical Instruments Set* is (US \$ 861.26). And this is totally according to the ISO (International Standard Organizations). We are member of SIMAP (Surgical Instruments Manufacturing Association of Pakistan) and we are sending "LAB Reports" of instruments material checking to our customers. Our quality is the recognition of our progress. That is very complete set for performing *Craniotomy* Surgeries. Mast Pak Surgical Corp. is providing very fine range of *Craniotomy Surgical Instruments Set* with reasonable prices. Our Esteemed customers (Surgeons) are joining us very deeply due to our reasonable prices and good quality. We can challenge about our quality policies worldwide because we are professional manufacturer due to our family profession.



Free Shipping for Orders above \$500 Worldwide.

## MAST PAK SURGICAL CORP.

The fastest growing Manufacturing Brand.





